HW#1 Solutions

1.4. Prz two heads and one talz = # of outramos heads, one tal. # of all outcomes $= (\frac{3}{2})() = \frac{3}{8}$ 1.7. $\mathcal{N} = (0, \infty) \times (0, \infty)$ is the combined space.

- N= { (X,Y) - XE(0,~), YE(0,~) } E= {(X, Y): X>Y } where

X: height of Woman Y: herght of man

1.74 a: two balls b: two balls ab: four balls. # of outcomes favorable to a P(A)= total # of outcomes. P(B) =P(AB)= $P(A)P(B) = \frac{3}{10} \neq P(AB)$ Note Hence A&B are not independent

1.20

$$P(X=1|Y=1) = P(Y=1|X=1)P(X=1)$$

$$P(Y=1)$$

$$= P(Y=1|X=1)P(X=1)$$

$$P(X=1)$$

$$P(X=2) = 3P(X=1)$$

$$P(X=2) = \frac{1}{2}$$

$$P(X=2) = \frac{1}{2}$$

$$P(X=2) = \frac{1}{3}$$

$$P(X=1) = \frac{1}{6}$$

$$P(X=1|Y=1) = (1-x)\frac{1}{6}$$

$$= \frac{1-x}{1-x}$$

1.26
$$R = \frac{1}{r} \text{ balls appear in r prevelocited colls"}$$

 $P(R) = \frac{k_R}{k_R} \rightarrow \text{combinations fourable to } R$
 $K = \binom{n}{r}$
 $k_R = \binom{n}{r} = 1$
 $P(R) = \frac{1}{\frac{n!}{(n-r)!r!}} = \frac{(n-r)!r!}{n!}$

1.21 Pr
$$\frac{5}{2}$$
 knows | correctly answers] = Pr $\frac{5}{2}$ correctly answers | knows] Pr $\frac{1}{2}$ knows]
Pr $\frac{5}{2}$ correctly answers] R $\frac{1}{2}$ knows] Pr $\frac{1}{2}$ knows]
Pr $\frac{5}{2}$ correctly answers] R $\frac{1}{2}$ knows] Pr $\frac{1}{2}$ knows]
Pr $\frac{1}{2}$ correctly answers] R $\frac{1}{2}$ knows] Pr $\frac{1}{2}$ knows]
Pr $\frac{1}{2}$ correctly answers] R $\frac{1}{2}$ knows] Pr $\frac{1}{2}$ knows]
Pr $\frac{1}{2}$ correctly answers] R $\frac{1}{2}$ knows] Pr $\frac{1}{2}$ knows]
Pr $\frac{1}{2}$ correctly answers] R $\frac{1}{2}$ knows] Pr $\frac{1}{2}$ knows]
Pr $\frac{1}{2}$ correctly answers] R $\frac{1}{2}$ knows] R $\frac{1}{2}$ knows]
Pr $\frac{1}{2}$ correctly answers] R $\frac{1}{2}$ knows] R $\frac{1}{2}$ knows]
Pr $\frac{1}{2}$ descripted $\frac{1}{2}$ size k missile 2] $\frac{1}{2}$
Pr $\frac{1}{2}$ correctly answers] R $\frac{1}{2}$ size k missile 2] $\frac{1}{2}$
Pr $\frac{1}{2}$ and B R $\frac{1}{2}$ size k missile 2] $\frac{1}{2}$ size k missile 2] are
Start and.
Theology of SEK missile 1] R $\frac{1}{2}$ SSK missile 2] are
Start and.
Theology explored $\frac{1}{2}$ SEK missile 2] are
Start and.
Theology explored $\frac{1}{2}$ SEK missile 2] are
Start and.
Theology explored $\frac{1}{2}$ SEK missile 2] are
Start and.
Theology explored $\frac{1}{2}$ SEK missile 2] are
Start and.
Pr $\frac{1}{2}$ BH destroyed $\frac{1}{2}$ D $\frac{1}{2}$ other
 $\frac{1}{2}$ Also each $\frac{1}{2}$ BH destroyed $\frac{1}{2}$ D $\frac{1}{2}$ other
 $\frac{1}{2}$ BH destroyed $\frac{1}{2}$ D $\frac{1}{2}$ other
 $\frac{1}{2}$ BH destroyed $\frac{1}{2}$ D $\frac{1}{2}$ other
 $\frac{1}{2}$ BH destroyed $\frac{1}{2}$ D $\frac{1}{2}$ better

b). Solve least one BM gets through = Solve BH's detroyed
Prisot least one BH gets through]=1- Prisol BH's detroyed?
= 1-0.96
= 0.04
c) Pris exactly one BH gets through]= (6) p5 (1-p)
= 6 (0.36)⁵ (0.04)
1.32 o). Prisoll 10 meet spees y= # of outcomes in which all
10 meets spees.
=
$$\frac{(55)}{(10)}$$

= $\frac{851}{75! \cdot 10!}$ = $85.84.....76.75$
= $\frac{(50)}{(100)}$
= $\frac{851}{200! - 100.93....91.90}$
b). Pris 2 or more discorded y=1- Pris1 discorded y-
= $\frac{(5)(3)}{(10)}$
= $1-\frac{(5)(3)}{(10)} - \frac{(10)}{(10)}$
= $1-\frac{(5)(3)}{(10)} + \frac{(35)}{(10)}$
= $1-\frac{(5)(3)}{(10)} + \frac{(35)}{(10)} + \frac{(35)}{(10)}$
= $1-\frac{(5)(3)}{(10)} + \frac{(35)}{(10)} + \frac{(35)}{($

,

1.34) We use the Poisson approxmation to the binomial: Eq. (1.9-2). $P = \frac{1}{1000} = 10^3$, h = 100 $hp = 10^1$ P[at least one diamond found) = 1-P[no diamondo found] = 1- (101)°/0! · e = 1- ag = 0.1

(1.38) A closed circuit can occur as

$(A_2A_4 \cup A_3A_5)A_1A_6 = A_1A_3A_4A_6 \cup A_1A_3A_5A_6$ P(AUB) = P(A) + P(B) - P(AB) for any events

A.B.



1.44 The reasoning is fake since it is now given that there is at lost one bomb on board.

Przitwo bombs | unarmed tomby = Przitwoor zny unarmedit or more bombs] 1 bomb] Prziunarmed z

20 tomb 07

Note here that Prz two or bomby = Prz unamid J. Prz ore or z more bomby = Prz unamid J. Prz ore or z bomby je more z bomby

Priz two bombs [unarmed bomby = Priz one or more armed bombs]

one armed bomby



c) Let X be the waiting time. Then
1.
$$P[X \ge 10] = 1 - P[X \le 10] = 1 - F_x(10) = 1/2$$

2. $P[X \le 5] = F_x(5) = 1/2$
3. $P[S \le X \le 10] = \int_{5}^{10} f_x(x) dx = 0$
4. $P[X=1] = 0$.

(2.3) P[x < a] = F[a] - P[x = a] $P[x \le a] = F_x(a)$ $P[a \le z \le b] = F(b) - P[z = b] - F(a) + P[z = a]$ $P[a \le \mathbf{x} \le b] = F_x(b) - F_x(a) + P[\mathbf{x} = a]$ $P[a < x \le b] = F_x(b) - F_y(a)$ P[a < x < b] = F(b) - P[x = b] - F(a)

(2.5) P[|X| > & r] = 1 - P[-Ar = X = Ar] $= 1 - \int_{-A^{-1}}^{A^{-1}} \frac{1}{\sigma \sqrt{2\pi}} e^{-\frac{1}{2}(\frac{x}{r})^{2}} dx = 1 - \frac{1}{\sqrt{2\pi}} \int_{-A^{-1}}^{A} e^{-\frac{1}{2}x^{2}} dx$ Our table gives $erf(x) = \frac{1}{Ian} \int^{x} e^{-\frac{1}{3}y^{2}} dy$. Hence $P[IXI \ge 4\sigma] = 1 - 2 \operatorname{erf}(x).$





2.10
$$P(X=A \mid X even) = 0$$
 $A=1,3$
 $P(X=A \mid X even) = \frac{P(X=A \cdot X even)}{P(Xeven)} = \frac{P(Xeven \mid X=A)P(H=)}{P(Xeven)}$
 $= 0$ $A=1,3$
 $= \frac{P(X=A)}{P(Xeven)}$

$$P(Xeven) = P(X=o) + P(X=2) + P(X=4)$$

= $\binom{4}{o}\binom{1}{5}^{4} + \binom{4}{3}\binom{1}{5}^{4} + \binom{4}{4}\binom{1}{5}^{4} = \frac{1}{5}$
$$P(X=o) = \binom{4}{o}\binom{1}{5}^{4} = \frac{7}{76} \implies P(X=o|Xeven) = \frac{1}{8}$$

$$P(X=2) = \binom{4}{5}\binom{1}{5}^{4} = \frac{6}{76} \implies P(X=2|Xeven) = \frac{6}{8}$$

$$P(X=4) = \binom{4}{4}\binom{1}{5}^{4} = \frac{7}{76} \implies P(X=4|Xeven) = \frac{7}{8}$$



2.11 # bulbs produced by
$$B = n_B$$

"... $A = n_A$
 $n_B = 3n_A$ $n_A + 3n_A = n$
 $4n_A = n$
 $n_A = \frac{n}{4}$ $n_B = \frac{3n}{4}$
 $\therefore P(A) = \frac{n_V}{n} = \frac{1}{4}$ $P(B) = \frac{3}{4}$
 $F_x(x|A) = (1 - \frac{e^{N_B}}{e})u(x)$ $F_x(x|B) = (1 - \frac{e^{N_A}}{e})u(x)$
 $F_x(x) = F_x(x|A) P(A) + F_x(x|B) P(B)$
 $= (1 - \frac{e^{N_A}}{e})\frac{1}{4} + (1 - \frac{e^{N_A}}{e})\frac{3}{4}$
 $F(a) = .660$ $F(b) = .85$ $F(7) = .92$
 $P(burns at least 2 months) = 1 - F(a) = 0.44$
 $P(burns at least 5 months) = 1 - F(b) = 0.15$
 $P(burns at least 7 months) = 1 - F(7) = 0.08$

(2.14) Cleanly X and Y are independent
but how do we find the pdf's?
Write
$$f_X(x) = A e^{-\frac{1}{2} \left(\frac{x}{3}\right)^2} u(x)$$
.
Then with $A = \frac{2}{3\sqrt{2\pi}}$, $\int_{1}^{\infty} f_X(x) dx = 1$
Now write $f_Y(x) = B e^{-\frac{1}{2} \left(\frac{x}{2}\right)^2} u(x)$
Then with $B = \frac{2}{2\sqrt{2\pi}}$, $\int_{1}^{\infty} f_Y(x) dy = 1$
But $f_X(x) f_Y(y) = AB e^{-\frac{1}{2} \left(\frac{x}{2}\right)^2} e^{-\frac{1}{2} \left(\frac{x}{2}\right)^2}$
and $AB = \frac{1}{3\pi}$ as given.
 $P \left[0 < X \le 3 \right] = 2 \cdot \frac{1}{3\sqrt{2\pi}} \int_{0}^{3} e^{-\frac{1}{2} \left(\frac{x}{2}\right)^2} dx$
Likewise:
 $P \left[0 < Y \le 2 \right] = 2 \cdot \frac{1}{2\sqrt{2\pi}} \int_{0}^{2} e^{-\frac{1}{2} \left(\frac{x}{2}\right)^2} dy$
Hence $P \left[0 < X \le 3, 0 < Y \le 2 \right] = 4 \operatorname{erf}^2(1)$

(2.16) We use Bayes formula for pdfs: $f_{X|Y}(x|x) = \frac{f_{Y|X}(x)f_{X}(x)}{f_{X}(x)}$ fr (2) fx (x)= 1 red (x) $f_{\mathbf{Y}}(y) = \int_{-\infty}^{\infty} f_{\mathbf{X}\mathbf{Y}}(x,y) dx$ = f fx(x (y)x) fx (x) dx = $\int_{1}^{1} \frac{1}{2} \frac{1}{\sqrt{2\pi\sigma^{2}}} e^{x} p \left[\frac{-(y-x)^{2}}{2\sigma^{2}} \right] dx$ Let 5 = x-y de= dx, obtain $f_{\mathbf{Y}}(\mathbf{y}) = \frac{1}{2} \int_{-\frac{1}{2}}^{\frac{1}{2}} \sqrt{\frac{1}{2\pi}} e^{\frac{1}{2}} d\mathbf{y}$ $= \frac{1}{2} \left[\operatorname{erf} \left(\frac{1-4}{\sigma} \right) - \operatorname{erf} \left(\frac{-1-4}{\sigma} \right) \right].$ But erf(x)=-erf(-x). Hence $f_{X}(3) = \frac{1}{2} \left[\operatorname{erf} \left(\frac{1+3}{2} \right) - \operatorname{erf} \left(\frac{3-1}{2} \right) \right].$ fx|r (x|y) = VIT 0 exp [-(4-x)] red(x) erf (1+4) - erf (4-1) erf (1+4) - erf (4-1) Then

(2.20) This is a rather classic problem in detection theory. $P[A|M] = P[X \ge 0.5|M] = \frac{1}{\sqrt{2\pi^2}} \int e^{-\frac{1}{2}(X-1)^2} dx$ $= \frac{1}{\sqrt{2\pi}} \int_{0.69}^{\infty} e^{-\frac{1}{2}y^2} dy = \frac{1}{2} + erf(0.5) = 0.69$ $P[A|M^{c}] = \frac{1}{\sqrt{2\pi^{2}}} \int_{0.5}^{\infty} e^{-\frac{1}{2}x^{2}} dx = \frac{1}{2} - erf(0.5) = 0.31$ $P[A^{c}|M^{c}] = \frac{1}{\sqrt{2\pi^{2}}} \int_{0.5}^{0.5} e^{-\frac{1}{2}x^{2}} dx = \frac{1}{2} + erf(0.5) = 0.69$ $P[A'|M] = \frac{1}{\sqrt{2\pi}} \int_{0.5}^{0.5} e^{-\frac{1}{2}(X-I)^2} dX = \frac{1}{\sqrt{2\pi}} \int_{0.5}^{0.5} e^{-\frac{1}{2}(X-I)^2} dX = \frac{1}{\sqrt{2\pi}} \int_{0.5}^{0.5} e^{-\frac{1}{2}} dy$ $=\frac{1}{2} - erf(0.5) = 0.31$

d

3.4 Method (i): P[Ysy] = P[exsy] = P[X sluy] = Ex (lny) Hence $f_{\mathbf{Y}}(y) = \frac{dF_{\mathbf{x}}(lny)}{d(lny)} \frac{d(lny)}{dy} = f_{\mathbf{x}}(lny) \cdot \frac{1}{y}$ for y>0. Note for y<0 P[eX=y]= P[\$]=C Hence $f_{\mathbf{Y}}(y) = \frac{1}{\sqrt{2\pi}} \exp\left[-\frac{1}{2}\left(\frac{\ln y - \mu}{\sigma}\right)^2\right] u(y)$. e^ 1g(x) Method (ii): メ Only solution to y-g(x)=0 is x= lny for y>o; for y<0, no real solution to y-g(x)=0; hence for y<0, pdf of Y=0 $f_{Y}(y) = \sum_{i=1}^{r} \frac{f_{X}(x_{i})}{1q'(x_{i})1}$ = fx (lug)/ ex/x=lug = fx (lug)/y · u(y)

(3.8) $(3.8) = \frac{1}{2} \operatorname{rect}(x-1) = \frac{1}{2} \operatorname{re$ For 0 < x < 1 g(x)=2x For $\frac{1}{2} \le x < 1$ g(x) = 2 - 2x. E|sewhere g(x) = 0. For y>1, no real roots to g(x)-y=0; .. pdf is 0; For 0<y<1 g(x)-y=0 has 2 roots: 2x-y=0 or x1 = 4/2 and 2-2x-y=0 or $x_2 = 1 - \frac{1}{2}/2.$ For y<0, no real roots to g(x) - y=0; .. pdf is 0; For y=0 P[Y=0]= P[X≤0]+ P[X≥1]=P[X≥1] since X: U(0,2) I.e., is uniform in (0,2). But P[X]= 1. Therefore at y=0, for (2) = - 20(4). At y=1 $P[Y=1] = P[X=\frac{1}{2}] = 0$ since X is cont. Thus for 0 < y < 1 fr(3) = $\sum_{i=1}^{2} f_{X}(x_{i})/(g'(x_{i}))$ = $\frac{1}{2} \int_{X} (\frac{1}{2}) + \frac{1}{2} \int_{X} (1 - \frac{1}{2}) = \frac{1}{4} \operatorname{rect}(\frac{1}{4})$ $\frac{1}{4} \operatorname{rect}(\frac{4}{4}) \xrightarrow{-2}$ $+\frac{1}{4} \operatorname{rect}(\frac{4}{4}). = \frac{1}{2} \left(\frac{4}{4}\right)^{-\frac{1}{2}}$

 $(3.13) \quad Z = X - Y \qquad \int_X (x) = \int_Y (x) = \alpha e u(x)$ Let V = -Y, $P[V \le w] = P[Y \ge -w]$ = 1- Fy (-w) $f_{\nabla}(v) = \frac{dF_{\nabla}}{dv} = f_{\Upsilon}(-v)$

(contd)

Therefore fr (y= x e u (-v) (3.13 cont'd)



for 2>0



Hence $f_{2}(z) = \frac{\alpha}{2} e^{-\alpha |z|}$ all $|z| < \infty$.





$$(3.28) \quad \overline{z} = \overline{x}^{2} + \overline{y}^{2} \qquad W = \overline{x}$$
The real roots $R_{1}, R_{2} + \sigma_{3} = x^{2} + \overline{y}^{2} \qquad W = \overline{x}$ are
$$R_{1}: \quad x = W , \quad \overline{y} = \sqrt{\overline{3} - W^{2}} \qquad |W| < \sqrt{3} \qquad \overline{3} > 0$$

$$R_{2}: \quad x = W , \quad \overline{y} = -\sqrt{\overline{3} - W^{2}} \qquad |W| < \sqrt{3} \qquad \overline{3} > 0$$

$$R_{3}: \quad x = W , \quad \overline{y} = -\sqrt{\overline{3} - W^{2}} \qquad where$$

$$I_{3}: \quad z = W , \quad \overline{y} = -\sqrt{\overline{3} - W^{2}} \qquad where$$

$$I_{3}: \quad |I| = |J_{2}| = 2\sqrt{\overline{3}^{2} - W^{2}} \qquad where$$

$$J_{1,2} = \left| \begin{array}{c} \frac{2\theta}{2x} & \frac{2\theta}{3y} \\ \frac{2\theta}{3x} & \frac{2\theta}{3y} \\ \frac{2\theta}{3x} & \frac{2\theta}{3y} \\ \frac{2\theta}{3x} & \frac{2\theta}{3y} \\ \frac{2\theta}{3x} & \frac{2\theta}{3y} \\ \frac{1}{2\sqrt{\overline{3} - W^{2}}} - \left[f_{XY}(w, \sqrt{\overline{3} - W^{2}}) \right] \\ + f_{XY}(w, -\sqrt{\overline{3} - W^{2}}) \\ \frac{1}{2\pi \overline{\varepsilon}^{3}} \frac{1}{2\sqrt{\overline{3} - W^{2}}} \exp\left[-\frac{3}{2\sqrt{2}} \right] \quad \frac{3 > 0}{|W| < \sqrt{3}} \\ = 0 , \quad \text{otherwise} \\ f_{\overline{z}}(\overline{3}) = \int_{-\alpha}^{\alpha} f_{\overline{z}W}(\overline{3}, w) dw = \frac{1}{2\pi \overline{\varepsilon}^{3}} e^{-\frac{3}{2}\sqrt{2}^{2}} u(\overline{3}) .$$

3.29 Try the transformation (actually the inverse)

$$x = \hat{a}_{3} + \hat{b}_{W}$$

 $y = \hat{c}_{3} + \hat{d}_{W}$
Then $x^{2} + xy + y^{2} = (\hat{a}_{3} + \hat{b}_{W})^{2} + (\hat{c}_{3} + \hat{d}_{W})^{2}$
 $+ (\hat{a}_{3} + \hat{b}_{W})(\hat{c}_{3} + \hat{d}_{W})$
We want the cross terms to vanish; this will
allow $f_{zw} = f_{z}f_{w}$. The cross terms are
 $(2\hat{a}\hat{b} + 2\hat{d}\hat{c} + \hat{a}\hat{d} + \hat{b}\hat{c}) = 0$
choose $\hat{a} = \hat{c}$, $\hat{b} = -\hat{d}$. Then $x = \hat{a}_{3} + \hat{b}_{W}$
 $y = \hat{a}_{3} - \hat{b}_{W}$

$$\chi^{2} + \chi^{2} - 2P\chi\chi = 3\hat{a}^{2}\delta^{2} + \hat{b}^{2}\omega^{2} \quad Hence$$

$$\widehat{Q}(\chi, \chi) = \frac{1}{2} \left\{ \left[\frac{3}{e/2\hat{a}} \right]^{2} + \left[\frac{\hat{\omega}}{e \epsilon 5/2\hat{b}} \right]^{2} \right\}$$

$$IJI = mag \left| \frac{3\hat{z}}{2\hat{x}} - \frac{3\hat{b}}{2\hat{y}} \right| = \frac{1}{2I\hat{a}\hat{b}I}$$
where
$$g(\chi, \chi) = \frac{\chi + \chi}{2\hat{a}} \quad h(\chi\chi) = \frac{\chi - \chi}{2\hat{b}}$$
With $q \leq \sigma/2\hat{a}$

$$q_{1} \neq 45\sigma/2\hat{b}$$
Hence
$$f_{\XiW}(\delta, \omega) = \frac{1}{\sqrt{2\pi}} \quad e^{-\frac{1}{2}} - \frac{3^{2}}{q_{1}^{2}} \cdot \frac{1}{\sqrt{2\pi}} - \frac{1}{2} - \frac{\omega^{2}}{q_{2}^{2}}$$

$$= f_{\Xi}(3) f_{W}(\omega)$$

3.32)
$$\vec{z} = \chi \cos \theta + \frac{1}{7} \sin \theta$$
 (1)
 $W = \chi \sin \theta - \frac{1}{7} \cos \theta$ (3)
Multiply (1) by $\cos \theta$; (2) by $\sin \theta + add$
 $\chi = \vec{z} \cos \theta + W \sin \theta$
Now, multiply (1) by $\sin \theta$; (2) by $\cos \theta + subtract$
 $y = \vec{z} \sin \theta - W \cos \theta$
 $J = \begin{vmatrix} \cos \theta & \sin \theta \\ \sin \theta & -\cos \theta \end{vmatrix} = -1$ $|J| = 1$
only root is
 $\chi = \vec{z} \cos \theta + W \sin \theta$
 $\frac{1}{2} = \vec{z} \sin \theta - W \cos \theta$
 $f_{2W}(\vartheta, w) = \frac{1}{2\pi} e^{-\frac{1}{2}} [\vec{z} + w^{2}]$
 $no change !$

4.3 A binomial random variable representing n trials may be defined as the sum of n Bernoulli random variables, one for each trial : $X = \sum_{k=1}^{n} X_k$

Since the expected value of a Bernoulli r.v. is simply $E[X_k] = p \cdot 1 + (1-p) \cdot 0 = p$

the expected value of the binomial r.v. must be $E[X] = E[\sum_{k=0}^{n} X_k] = \sum_{k=0}^{n} E[X_k] = np$

$(4.11) n_{A} = 3 n_{B} n_{B} = 2 n_{c} n_{A} + n_{B} + n_{c} = n$

- $\stackrel{.}{\sim} 6\eta_c + 2\eta_c + \eta_c = \eta \qquad 9\eta_c = \eta \qquad P(c) = \frac{1}{9} \\ P(B) = 2P(c) = \frac{2}{9} \downarrow P(A) = 3P(B) = \frac{6}{9}$
- E(X) = E(X|A)P(A) + E(X|B)P(B) + E(X|C)P(C)
 - $= \frac{6}{9} \left[\frac{1}{5} \int_{0}^{\infty} x e^{-x/5} dx \right] + \frac{2}{7} \left[\frac{1}{55} \int_{0}^{\infty} x e^{-x/5.5} dx \right]$

2, 3, 6,5

- $+ \frac{1}{4} \left[\frac{1}{10} \int_{0}^{\infty} x e^{-\frac{x}{10}} dx \right]$
- ~ 5.9 years

(4.12)
$$E(Y) = \int_{-\pi}^{\pi} E(Y|\theta) f(\theta) d\theta$$

 $E(Y|\theta) = \theta$ by inspection
 $E(Y) = \frac{1}{2\pi} \int_{0}^{2\pi} \theta d\theta = \pi$

(4.16)
$$f_{Y}(y) = \int_{-\infty}^{\infty} f_{XY}(x,y) dx$$

$$= \int_{-M}^{M} \frac{1}{2\pi\sigma^{2}(1-\rho^{2})^{M}} \exp\left[-\frac{\chi^{2}+\chi^{2}-2\rho\chi\chi}{2\sigma^{2}(1-\rho^{2})}\right] d\chi$$

$$= \frac{1}{\sqrt{2\pi\sigma}} \exp\left(-\frac{\chi^{2}}{2\sigma^{2}}\right)$$

Y is Gaussian random variable with distribution $N(0, \sigma^2)$, so E[Y] = 0

$$f_{\Psi|\mathbf{X}}(\mathcal{Y}|\mathbf{X}) = \frac{f_{\mathbf{X}\Psi}(\mathbf{X}, \mathbf{Y})}{f_{\mathbf{X}}(\mathbf{X})} = \frac{f_{\mathbf{X}\Psi}(\mathbf{X}, \mathbf{Y})}{\int_{-\infty}^{\infty} f_{\mathbf{X}\Psi}(\mathbf{X}, \mathbf{Y}) d\mathbf{Y}}$$
$$= \frac{\frac{1}{2\pi\sigma^{2}\sqrt{1-p^{2}}} \exp\left[-\frac{x^{2}+y^{2}-y^{2}+y^{2}+y^{2}-y^{2}+y^{2}+y^{2}-y^{2}+y^{2}+y^{2}-y^{2}+y^{2}+y^{2}+y^{2}-y^{2}+y^{2}$$

$$= \frac{1}{\sqrt{2\pi} \sigma \sqrt{1-p^2}} \exp \left[-\frac{(y-px)^2}{2\sigma^2(r-p^2)}\right]$$

$$E[\Upsilon | \mathbf{X} = \chi] = \int_{-\infty}^{\infty} \mathcal{J} f_{\Upsilon | \mathbf{X}} (\mathcal{J} | \mathbf{X}) d\mathcal{J}$$
$$= \int_{-\infty}^{\infty} \frac{\mathcal{J}}{\sqrt{2\pi}} \frac{\varphi | \mathbf{Y} | \mathbf{X}}{\sqrt{2\pi}} \exp[-\frac{(\mathcal{J} - \mathcal{P} \mathbf{X})^{\lambda}}{2\sigma^{\lambda}(1 - \mathcal{P}^{\lambda})}] d\mathcal{J}$$
$$= \mathcal{P} \mathbf{X} - \mathbf{z}$$

This result shows that although E(Y)=0, the expected value of Y given X = pX. The best <u>predictor</u> Y_p of Y is $Y_p = pX$. Of course this result only makes sense if we can observe X.

$$(4.18) a) P(X=-1) = P(\varsigma=4) = \frac{1}{5}$$

$$P(Y=1) = P(\varsigma=-1) + P(\varsigma=1) = \frac{1}{5}$$

$$P(X=-1, \gamma=1) = P(\varsigma=-1) = \frac{1}{5}$$

$$P(X=-1)P(\gamma=1) = \frac{1}{5} \cdot \frac{1}{5} = \frac{2}{25} \neq P(X=4, \gamma=1)$$
Hence X and Y are dependent r.v's.
b) $E[X] = \Sigma \times P(X)$

$$= \frac{5}{5} \cdot \frac{7}{5} \cdot P(\varsigma_{1}) = \frac{1}{5} (-1 - \frac{1}{5} + 0 + \frac{1}{5} + 1)$$

$$= 0$$

$$E[Y] = \Sigma \forall P(Y)$$

$$= \frac{5}{1^{2}} \cdot \frac{5}{5} = \frac{1}{2}$$

$$E[XY] = \Sigma \times \forall P(X, \vartheta)$$

$$= \frac{5}{1^{2}} \cdot \frac{5}{7} P(\varsigma) = \frac{1}{5} (-1 - \frac{1}{8} + 0 + \frac{1}{8} + 1)$$

 $E[X]E[Y] = 0. \frac{1}{2} = 0 = E[XY]$ Hence X and Y are uncorrelated r.V's.

= 0



 $O_{\mathbf{X}}(t) = \int_{\mathbf{X}}^{\infty} f_{\mathbf{X}}(\mathbf{x}) e^{t\mathbf{x}} d\mathbf{x}$ $= \lambda \int_{0}^{\infty} e^{-\lambda x} e^{tx} dx = \lambda \int_{0}^{\infty} e^{-(\lambda - t)x} dx$ (will converge if $\operatorname{Re}(t) < \lambda$) = $\frac{\lambda}{\lambda - t}$ $P[X \ge a] \le e^{-at} \xrightarrow{\lambda} \ge h(t)$ For a minimum dh/1+=0. $\frac{dh}{dt} = \frac{\lambda}{\lambda - t} (-a) e^{-at} + e^{-at} \lambda (\beta (\lambda - t)^{-2} (\beta = 0))$ ⇒ t= >- ta (after some trivial algebra) $P[X \ge a] \le e^{-a(\lambda - \frac{1}{a})} \lambda$ Hence $\lambda - (\lambda - \frac{1}{2})$ = alexp[-al+1] So Chernoff bound is adexp [-ad+i].

(4.34) E(X)=K $E[X_n X_{n-1}] = (bX_{n-1} + Z_n)(X_{n-1}) = bK$ $E[X_{n}X_{n-2}] = (bX_{n-1} + Z_{n})(X_{n-2}) = [b[bX_{n-2} + Z_{n-1}] + Z_{n}] + X_{n-2}$ * BK E[XnXn-w]= bK 1 > 1 < 1

(4.36) In general $P(Z=n) = \sum_{k=1}^{n} P(X=k) P(Y=n-k)$ $\theta_{z}(t) = \sum_{n=-\infty}^{\infty} e^{tn} P(z=n) = \sum_{k=-\infty}^{\infty} P(x=k) \sum_{n=-\infty}^{\infty} P(y=n-k) e^{tn}$ Let m=n-A ; then

(4.36) courtd. $\theta_{z}(t) = \sum_{k=-\infty}^{\infty} P_{x}[k] e^{tk} \sum_{m=-\infty}^{\infty} P_{y}[m] e^{tm}$ $= \theta_{x}(t) \cdot \theta_{y}(t)$ $\theta_{x}(t) = \sum_{n=-\infty}^{\infty} e^{tn} \frac{1}{n!} e^{-\alpha} = e^{-\alpha[1-e^{t}]}$ Thus if X: Poisson (a); Y: Poisson (b) Then en $-a[i-\overline{e}^{t}] -b[i-\overline{e}^{t}]$ $O_{Z}(t) = O \qquad O_{Z}(t) = O$ that $f_2(z) = Poisson(a+b)$ This unplies $f_2(3) = \frac{1}{51} e^{-5} 5^{4} n = 0, 1, 2, ...$ a=2 and b=3. for